S

LQSbor) 1

QEO.CJ ch 1

Ei 3e nuolues, 2 gen vechors)

C\n&‘( QC." eri Stic ()e(i& N M Q
EfSenspacQs | MU?H(QCC\'{“‘U
CMQY]SQ og ba g<s.
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nxn

D<,5: ]jven Ael oc T : R" —>p"
LS V+ O @ad

Av=JAv T(v)= Av
A is an elso.nlro.eua
“han \r 1S an Qigq,nved-or
Jor  AIT

® HOW +° CQ?W-?Q+Q ® C,LIQV'O\C+Q“°5-|-[C_ PD‘ES“W‘.VP
o Geometric in‘hrfrz‘l'o.'iion . AQ?Q.‘CQ.‘hon.s

Av =Av ¢=> Ay -AdAv = o <—=7(A-<\I)U = 6,

¢=> v e Mol (A-31)
Moll (A-41) # 19§¢=> det CA-dT)= 0

det (A-AT )= p(d) Chavecte risd;c
?o?swommﬁ of A

The ?-332.11 velues Og A Qe the coots
og p () ie te Solutions of pld)=o

2023-01-03 17:45:06 2/12 Lesson1 (2/12)




5 A e M7 p(A) = (-l)n A“-r 0-.,,_”\"-'*..‘ +a,d+0,
n hw: i‘é Qyeeme Ay ore tha e,esg.,uo.eue) OS A

Qo= (\‘°.....°¢.\n = det (A)

Qn_‘ = ('l)“~\(°~l\"' Qg = Qn“? :(“)ﬂ" (A\’\ AL * - ‘\'An)
N -
\ o, 95 A
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Giwen A e {lnm (or 6.'."“) and wae Qre
n € PCA) = O hes n sofluitions

)

Ay srens An) not necederi disdinct
n
PA=CN" Ca- &) (a4, e (44 )
iy 4, & Qe the ® Arstinct
soluttans +to pld)= o
AI'.S has Qese.bfo.ic. mnoe{‘ef?:c.{b-_ QT"“”Q +o

ki'\'klf""‘Kr= n

k,

o 1 ©
E x A = i1 0 ©
9 o 9

0Cd) = Ca-0)t (der)”
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What hqwens in Q?

Ky
A e ™" o ()= (d-4) - (A-3 )%, qca)
/
"'l(‘\) =0 has po sfluttons in 2.
A,y .- Ar d:stinct Qn’sen\rqe»«es Og A .
r Coufd be O. K| hes &G.Sﬂ.e. Q= (Kt %)
K, 15 4he O\QSQbN‘M’C Moe'l‘QngCf‘"J °S d,

ﬂ.?"“'tﬂ,. 4 n

‘\

[ ©
EKQ/M?'?Q A = o o :
o -1 ©

pla)= - (A-1)( &%)
- (a-1) (dee) (d-0)

Question : dascyibe T Qa "72-3
T(v)=AL
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Camn 490 Kiad @ 2x2  metiix vt b

no Q‘.SQ.(D‘U'Q.Q—'A&.S ? C I‘\ R‘)

Geomedric way thia k oS T: R*=72R%
T(W= Av T(v)=dv  means that
T Sixes®  twe Boe thesugh origi
Poxm??o.?. to v.

Toke T}Or on_mpep_ 7T = rotetion OS q90°
Covnter cloc Kusse . what is The mateix OST K

ﬁa[-r('o) 7(?)] - [? -c‘)]
)I\ A

) 7 <

A Should haw no (reep ) Q-.SQ,,UQ&‘,&,
P()= det (A-T)= det (_.A -_L) =
= A%
A4l =0  has no seflutions in R
Solutions vn € ore -, L

2023-01-03 17:45:06 6/12 Lesson1 (6/12)




nKn

D€g3 \‘Y A el )ALQ" Q"SQA\J'Q.Q\«Q Og A +)~O.V)

N(A*AE) is CQ.??QA- Fhe Eislzn spR G ocf (\:L
end denoted \9‘3 BA\ J
Ea is a sabspace OS RN

Erv non &Rkro Vector in E,\

p! 1

Og A 6 or  eigen = lue d,

| < dim EA £ Q_QSQL = mo?kez‘cﬂ'y

L QS AL
dm Eyn is fled +he ie.onmz:}rrc nno?-lQ?P.,z;;L.J_

Ay

(S Qn o SQA vecto,

- 5 © ©
Ex A= L—q gg} p(A) = -(A-S)(A-B)z

E. = Al [_2 S :} ~ [:, “Z;J
1o -2 ° O

solution in veckor £04 (ZX3)-C\X_3,)(3)

BQ'»"S %or E.S (_%‘)

2 E 2
Chack A (_C\) _ (\Zo i 5(_q

o=20
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{2 o 9©
EB: Mol -4 o o [~
| 0

Dass Jor £
oo O - ©
2143
o 3 i) e
[5 Q O]"o o
..(130 o - o

|l o 2 [l\] /i{]

IS A A{o_gono.?;%a_}:‘?m —?

)

h
/_\
O-0
S~ —
f\

s WUy

Check l_
|
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Cho.v\SQ og baws

LIEY = L[]

Qra ’\'0\0 bases in ]2

I
w

L[@J];'E]

—'CQQCU\QQ"';OO.S Yo 5in<~l L [%]’l 8 .

T
.
W~
o
 ——
O—

|
N —
- N
|

) O '5/;
QO ‘,‘I/Z
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Canoni C_Q.? be ws a"bc
N . - . _ { _ o
D3 ‘s € : e,_-[?])ez-[;])
o) :
o | e e [ °
0 |
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Deé,; )'(o."}ru'cg:, oc? C},Qngq
Og be w-.s
CLiven E i &, --- R, | 2nd
B: b,.... by ;, whavre
E s the canonical bass 5—01' " , B s
Quotler bevvs | we can dedne mMetrices

UEB and Ucf S. t.

L]

UEB U= LVl Uf ]:\7]6 = S
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o [M] v "
E < B = (:) ",‘

€ _ oo~ 6: I =1\-)
UB ( [ )) UE (l ))

In oerse CQ?mee+ton :

[ O T T NN
(T (6
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